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¥
1. WasuRaanives 1sunsuan Ui (4 ASUUY)

#include<stdio.h>
void show({char str{30]);
void main()
{
show (“Hello”) ;
show (“*Impusle”) ;

void show(char str[30])
o
int 1;
for(i=0;i<strlen(str) ;i++)
printf (“%c\n”,strli]);

}

#include <stdio.h>
float x;

void my_func();
int main()

x = 10.5;
my_func() ;
printf("In wmain, x = %f \n",x);
return 0O;

}

void my_func()

{
x =5.5;
printf("In function, x = $f \n",x);
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2. Tlsunsudman dhuldsunsuierhmsasivaeulogin Taogl4vzviinsilou usemame tag password 1€
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11 M0 1914 username U191 freedom 1o password 134 x10a WanFuszAum 0 navan, 811415 Wadsu

whum 1 ndun IinAnvufumidsadugesiiede 1-4 ielil)sunsuduarahanldgndes (4 azuuw)

#include<stdio.h>

(1)
int main()
{
char user[15], pass[15];
int al;
printf ("Please, enter your username: ");
scanf ("%s", &user) ;
printf ("Please, enter your password: ");
scanf ("%s", &pass) ;
al = (2)
if(al == 1)
printf ("Login complete. You are pilot\n");
else
printf("Login not complete. Try again later\n");
(3)
)
int checklogin(char ul[15], char p[15])
{
int ci, c2;
cl = (4)
c2 = strcmp(p,"x10a");
if(cl == 0 && c2 == 0)
return 1;
else
return 0;
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3. sadouTilsunsuiesnamdnansimlunsde CD ie DVD Tasfitemmunadail
815111594983 CD/DVD ﬁ%aag:ﬁ
500 — 3,000 1 vz 1@5udIUan 5%
3,001 — 10,000 U 92 145 udman 7%
10,001 vmdu'hl o2 1d3ud nan 10%
WiFeudandulumssundiuansa copVD awitewlufi TandimualuTilsunsundn(main function)
Taothihms$us$uau CODVD wags1n1ves CD/DVD udazuruiize ﬁmmﬂﬁ'%ﬂ”lﬁ'mnqm 5 uNuaE
do'ldrTouiqn 1wy Tasligduuumhsediudndonug [9aaIedn

(7 Aazuuy)

#298197 1 #0817 2

Please enter No. of CD/DVD: 5 Please enter No. of CD/DVD: 3
Please enter price of CD/DVD 1250 Please enter price of CD/DVD 11150
Please enter price of CD/DVD 2:150 Please enter price of CD/DVD 22850
Please enter price of CD/DVD 3:500 Please enter price of CD/DVD 32000
Please enter price of CD/DVD 4750 Total price = 6000.00 baht

Please enter price of CD/DVD 5350 You get 10% discount = 600.00 baht
Total price = 2000.00 baht Net price = 5400.00 baht

You get 5% discount = 100.00 baht
Net price = 1900.00 baht

A100139 3 A0t 4
Please enter No. of CD/DVD: § Please enter No. of CD/DVD: 7
Please enter price of CD/DVD 125 No.of CD/DVD must in range 1- 5. Thank you.

Please enter prie of CD/DVD 2:15
Please enter price of CD/DVD 350
Please enter price of CD/DVD 450
Please enter price of CD/DVD 5350
Total price = 190.00 baht

You can’t get discount

Net price = 190.00 baht
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AOUN 2 Array (30 AZUNY)

1. 110 1dsunsuduans 2snoumende 1.1-1.5 (5 azuuw)

#include<stdio.h>

#define SIZE 5
void main () {
int figure[SIZE] = {10,40,20,50};
int i,total = 0;
for (i=0;i<SIZE;i++)
total = total + figurel[i}:
printf("Sum of all elements = %d\n",total);
printf ("%d\n", (figure[0]+figure[2]+figure(4])/3);
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2. nnTilsunsuAiuane 1neumeIuds 2.1-2.5 (10 AzuUUL)

#include<stdio.h>

void show(float([]);

void main()

{ int temp[5], count,i=1;
float rates([4] = {6.0, 6.5, 8.0};
show(rates) ;
printf(“%2.1£f, %2.1f”, rates[i+1l], rates[i]+3);
for(count = 0; count <=4; count+=2)

9. scanf (“8d”, &temp[count]);

10. }

11. void show(float rates[])

12. { int i;

13. for (i=0;i<4;i++)

14. printf (“%4.1f”, rates[i]*2);

15. }
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3. 1anpumntuae Uil (5 AZUUY)

12. }

11. display(val);

16. for (col_num
17

18. }

19. }

1. #include<stdio.h>

2. #include<string.h>

3. void display(int nums([3][4]);

4. void main()

5. { int i, j, val([3][4] = {8,16,9,52,3,15,27,6,14,25,2,10};
6. char name[201];

7. int len;

8. strcpy (name, "Lingping”);

9. len = strlen(name);

10. printf ("Length of %s is %d\n",name,len);

13. void display ( int nums[3][4])

14. { int row_num, col_num;

15. for(row_num = 0 ; row_num < 3 ; row_num++) {

0; col num < 4; ++col_num)
printf ("%4d4", nums[row_num] [col_num]$5);
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struct subject {
char name [30];
int credit;

struct subject subject 1list[3];
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#include<stdio.h>

#include<stdlib.h>

typedef struct {
char name([50];
float salary;
}:

float up_salary(Employee e);

int main{() {
Employee empl,emp?2;
empl.name, "Mario";
printf ("%s enters your salary: ", empl.name);
scanf ("3f", &empl.salary);
emp2 = up_salary(empl);
printf ("%s has %.1f baht\n", emp2.name, emp2.salary):;
system("pause");
return 0;
}
float up_salary(Employee e) {
return e;

}
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Who is to be fired?
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Input employee A:

Name: Sompong Sawadee
Duration of job(months): 62
Salary(baht): 36150

Last evaluation: 82.50
Last-year leave days: 8

Input employee B:

Name: Chokdee Khayan
Duration of job(months): 48
Salary(baht): 28050

Last evaluation: 87.50
Last-year leave days: 12

Between A:Sompong Sawadee and B:Chokdee Khayan

Result: pointA = 26.00, pointB = 26.10
Sompong Sawadee 1is to be fired!
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2. WABUHEWVBININFY  inputEmployee ( ) FFudoyadsquesminauniliausngld Tilsunsy
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Tudmsiia Employee HazWaATU return Adamlsny Wansus 115 Ta Inildail

Employee inputEmployee (void) ; (4 AzuUY)
] ) & & A a 4 =) &2 o = I
3. ﬂ\u‘lmuuﬂ'lﬂsllﬂ\iﬂ\iﬂ‘]fu fireWho( ) SIUNWITIUADITDNAIAD A Llag B “]Nl‘llu‘]fuﬂ Employee TNf]
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void fireWho (Employee A, Employee B); (5 A%UUU)

£ 4
a L4 o a s 1 [
4. vavoudn Tdsunsuil Wauysel (@uindiesunedel-3 uazdetuwanisulilsunsy)
#include <stdio.h»>
7 901 (4nzuun) ¥/

// Function Prototypes

Employee inputEmployee (void) ;

void fireWho (Employee A, Employee B);
/* 84 (5azuu) ¥

int main()

return 0;

}
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/* 02 (4azunu) ¥/
Employee inputEmployee (void)

/* 903 (5 Azuuw) v/
void fireWho(Employee A, Employee B)
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